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zAar anu ad "+" ongis le AugA ta eulav muminim a sah ¢ + xb + 2xa = )x(f noisserpxe citardauq eht ,)0 > a( a fo seulav evitisop roF .noitauge citardauq eht fo stoor eht fo erutan eht tciderp ot lufesu si )ca4 - 2AAb = D( tnanimreted ehT .noitauqe eht fo stoor eht dnif ot lufesu osla si noitauqe citardauq a rof erauqs eht gnitelpmoc fo dohtem ehT
.noitauge eht fo stoor owt eht ro x fo seulav owt niatbo ot devlos eb nac noitauqe citardauq A snoitaugE citardauQ evloS ot sdohteM 0 = 2AA+AA + x)2AA + +AA( - 2x .alumroF citardauQ eht gnisu ,23 = c dna 02 = b ,5 = a erehw ,)\ 0 = 23 + x02 + 2”°x5 (\ rof noituloS eht dniF :2 elpmaxE semoceb hcihw )\ ,\}11{trgs\ mp\ 4 = x (\ :sngis ro/dna
snoitcarf yfilpmiS )\ } 2 {} \}11{trgs\2{carfd\ mp\ } 2 {} 8 {carfd\ =x (\)\ } 2 {} \}11{trgs\2 mp\ 8 {carfd\ = x (\ :lacidaR eht yfilpmiS .02 + t61 + 2t4- = h esoppuS .a2/b- = x ta eulav mumixam a sah noisserpxe mtardauq eht ,)0 < a( a fo eulav evitagen rof dna ,a2/b- = x ta eulav muminim a sah noisserpxe citardauq eht ,)0 > a( a fo seulav evitisop
roF ?selaugi secAar neneit sacitjArdauc senoicauce sal odn,AuCcA .n3Aicauce al ed secAar sal etnemlaer rartnocne nis acitjArdauc n3Aicauce anu ed secAar sal ed azelarutan al rartnocne om3Ac erbos sjAm somerednerpa AugA Previous to stop How 3 use these methods, their applications and their uses. The first step in the process of simplifying 3 a
quadratic equation 3 transform it into the standard form axA A2 + bx + ¢ = 0. Related topics Examples of quadratic equations Example 1: Meghan is a fitness enthusiast and goes out running all the times. Let's take the equation® an axA A2 + bx + ¢ = 0 asy = axA A2 + bx + c . First division? in the average term, so that the product of the divided
terms is equal to the product of the first and last terms. x2 + (a + b)x +ab=0x2 + ax + bx +ab=0x (x + a) (x + a) (x + b) = 0 Let's understand factorization 3 the following example. Example 2: Let's learn how 2 a question of equation 3 find its application 2 the field of movement. The sum and product of the rums of a quadratic equation 3 can be
calculated directly from the equation, without actually finding the ruins of the quadratic 3 equation. A linear 3 has a unique root and a quadratic equation 3 has two or two responses. This 2 algebraic formula is used to manipulate the quadratic equation 3 derive the quadratic formula 3 find the rubles of the equation 3. These points can be presented on
the coordinate axis to obtain a torque-shaped graph for the equation? a grid. A How 3 Does Graphing Solve Quadratic Equations? The two equations are solved for x2 and x respectively. Moving forward in simplification 3 and taking the square root, the two possible races of the quadratic equation 2 are, x = (-b + A- A- A- A- A- A- (b2- 4ac) /2a. How 3
Apply the FA 3 formula? The height of the ball from the ground at a 't' moment, is denoted by 'h'. \( x = \dfrac{ -b \pm \sqrt{b~2 - 4ac}{ 2a } \) \( x = \dfrac{ -20 \pm \sqrt{20°2 - 4(5)}{ 2(5) } \) \( x = \dfrac{ -20 \pm \sqrt{400 - 640} { 10 } \) \( x = \dfrac{ -20 \pm ?acitjArdauc ?acitjArdauc n3Aicauce anu revloser arap acitjArdauc alumr3Af al azilitu es
om3AC¢A .sajelpmoc secAar sod yah ,euq ol rop )\ 0 < ca4 - 2”b (\ etnanimircsid 1E )\ } 01 Determines whether the discriminant\ (B ~ 2 4 € "4AC) \) is lower, greater than or equal to 0. The given quadic equation has equal roots if the discriminant is equal to zero. The determinant is part of the quadratic chemula. The condition for quadratic
equations\ (A 1x 2 +b 1x+c 1 =0\),and\(a 2x ~ 2 + b 2x + ¢ 2 = 0) having the same roots is \ (\ dfrac {(A 1b 2A€"A 2B 1)} {(B 1C 24€"B 2C 2C 21)}\) =\ (A 2C 14€"A 1C 2) ~ 2). The roots of a quadratic equatlon are referred by the alpha symbols (AZA *) and beta (A%2). The algebra chemula (A + B) é.2 = AA.2 + 2AB + BA2 is
used to resolve the quadratic equation and obtain the quadratic formula. A quadratic equation is an algebraic expression of the second grade in x. The quadratic formula to resolve a quadratic equation AxXA2 +bx+c=0isx=[-bAAaA4AA&AAA&A, a€ "4AC)]/ 2a. As a second step, take the common thorner of the first two and the last two
commands. See more> Go to Slidego to Slidego to Slidego at Slide breakdown of difficult concepts through simple images. What is the quadratic equation? For a quadratic equation of the form axA, 2 + bx + ¢ = 0 the discriminant is D = BA, 42 - 4AC = 0. The discriminant is called D = BA, 4AC. For D> 0, the roots are real and different, for D = 0 the
roots are real and equal, and for D 0), the range is [f (-b / 2a), A A ¢), and for negative values of A (A 0 the ratios are real and different, for D = 0 the ratios are equal, and for D 0 The ratios are real and different. Graph of a quadratic equation 3 the graph of the quadratic equation AX2 3 BX + C = 0 can be obtained by representing the quadratic
equation 3 a function 3ny = AX2 + BX + C. When \ (b © 2 - 4ac> 0) there are two real ratios. When \ (b ™ 2 - 4ac = 0) there is a real root. "How wide is the road?" Here we get the two values of X, applying the symbol mAAA and less in this 3 formula. Answer: Therefore, the is 7x2 + 9x + 2 = 0. How 3 find the nature of the equation's 3? Ratio 3
coefficients and and a fo stoor eseht niatbo nac eW .noitauge siht fo eulav mumixam eht dnif ot ysae si ti taht yaw a hcus ni 02 + t61 + 2t4- = h noitauqe citardauq eht fo smret eht egnarraer nac eW :noituloS .0 = ¢ + xb + A2Axa mrof eht fo si noitauqe citardauq a dna 0 = b + xa mrof eht eht fo si noitauge raenil A .noitauqge citardauq eht fo stoor fo
erutan eht dnif ylisae ot spleh hcihw ,ytitnauq dedeen eht dna tnatropmi na si tnanimircsid eht ecneH .noitauqe citardauq eht fo stoor eht dnif ot sdohtem tnereffid ruof era erehT .dnuorg eht evoba m02 si taht mroftalp a morf sdrawpu llab a sworht atiR .yrtemmys fo sixa sti dna alobarap eht fo seorez eht dnif ot desu era snoitauqe citardauQ
snoitauqE citardauQ fo snoitacilppA efil. laeR emoS era tahW .noitauge citardauq eht fo stoor eht fo erutan eht dnif nac ew ,snoitaluclac tsael eht htiw dna tnanimreted siht fo pleh eht htiW .alumrof eht ni ngis evitagen eht gniylppa yb toor rehtona teg nac ew dna ngis evitisop eht gnisu deniatbo eb nac toor enO .shparg woleb eht ni devresbo eb nac 0
= ¢ + xb + 2xa noitauqge citardauq eht rof eulav muminim dna mumixam ehT noisserpxE citardauQ fo eulaV muminiM dna mumixaM )\27)2 c1 a-1 c2 a((\=)\})1 c2 b-2 cl b({})1 b2 a-2 bl a({carfd\(\ .2x fo tneiciffeoc eht yb dedivid x fo tneiciffeoc eht fo evitagen eht ot lauge si noitauge citardauq eht fo stoor eht fo mus ehT .noitauqge citardauq
a fo stoor eht dnif ot yaw tselpmis eht si alumroF citardauQ alumroF noitauqE citardauQ .)\}a2{} }ca4 - 2”b{trgs\mp\ b-{carf\ (\ = x si noitauqge citardauq eht fo stoor eht dnif ot alumrof ehT .spets eerht fo ecneuqes a hguorht noitazirotcaf yb devlos eb nac noitauqe citardauq ehT .noitauge citardauq eht fo noitulos eht si sixa-x latnoziroh eht stuc
hparg eht erehw tniop ehT .noitauqe citardauq eht fo stoor fo seitreporp eht tuoba erom yduts ot lufesu era 0 = ¢ + xb + 2xa noitauqe citardauq eht fo mret tnatsnoc eht dna ,mret x ,2x fo tneiciffeoc ehT noitauqE citardauQ fo ecuaciA3n utilizando la fA3rmula cuadrAjtica. For a > 0, the range of the quadratic equation ax2 + bx + ¢ = 0 is [b2 - 4ac/4a,
A¢AA) For a < 0, the range of the quadratic equation ax2 + bx + c = 0is: (A¢AA, -(b2 - 4ac)/4a] Quadratic Formula Proof Consider an arbitrary quadratic equation: ax2 + bx + ¢ =0, a A¢A 0 To determine the roots of this equation, we proceed as follows: ax2 + bx = -c A¢AA x2 + bx/a = -c/a Now, we express the left hand side as a perfect square, by
introducing a new term (b/2a)2 on both sides: x2+ bx/a + (b/2a)2 = -c/a + (b/2a)2 The left hand side is now a perfect square: (x + b/2a)2 = -c/a + b2/4a2 A¢AA (x + b/2a)2 = (b2 - 4ac)/4a2 This is good for us, because now we can take square roots to obtain: x + b/2a = AA+A¢AA(D2 - 4ac)/2a x = (-b AA+ A¢AA(b2 - 4ac))/2a Thus, by completing the
squares, we were able to isolate x and obtain the two roots of the equation. Discriminant: D = b2 - 4ac D > 0, the roots are real and distinct D = 0, the roots are real and equal. En otras palabras, una ecuaciA3n cuadrAjtica es una "ecuaciA®n de grado 2". Hay muchas aplicaciones de las ecuaciones cuadrAijticas en el mundo real. La soluciA3n
calculadora mostrarAj el trabajo utilizando la fA*rmula cuadrAjtica para resolver la ecuaciA®n introducida para raAces reales y complejas. Hay dos mA©todos alternativos a la fA’rmula cuadrAjtica. x2 + 5x + 6 =0x2 + 2x + 3x + 6 = 0x (x + 2) + 3 (x + 2) = 0 (x + 2) (x + 3) = 0 AsA los dos factores obtenidos de la ecuaciA®n cuadrAjtica son (x + 2) y
(x + 3). A¢CuA|ntas RaAces tiene la EcuaciA3n CuadrA.tlca'? El producto de la raAz de la ecuaciA®n cuadrAijtica es AA+A2 = c/a = tA©rmino constante/ Coeficiente de x2 La ecuaciA®n cuadrAitica que tiene raAces AA+, A2, es x2 & (AA+ + A2) x + AA+A2 = 0. A;CA3mo se resuelve una ecuaciA3n cuadrA;jtica sin usar la fA3rmula cuadrAjtica? SoluciA3n:
La ecuaciA®n cuadrAitica que tiene raAces recAprocas a las raAces de la ecuaciA®n ax2 + bx + c=0,escx2 + bx+a==11-x-x11 +2x 0 =11-x01 + 2x 53 = 2x + x4 + x6 + 42 53 = )x + 40)x + 6( 041 = )x + 4(2 )x + 6(2 041 = )x2 + 8()x2 + 21( ,noitseuq eht ot gnidroccA .ylevitcepser 8 dna 5 stoor eht gnivah noitauqe citardauq eht dniF :3
elpmaxE ?snoitaugE raenil. morF tnereffiD snoitauqE citardauQ era woH .a2/b- = x ta eulav mumixam a sah ¢ + xb + 2xa = )x(f noisserpxe citardauq eht ,)0 < a( a fo eulav evitagen roF .lauqge dna laer era stoor eht 0 = D roF .noitauge citardauq eht fo stoor eht fo erutan eht tciderp ot lufpleh si tnanimircsid ehT .llab eht yb deniatta thgieh mumixam
eht dniF .h fo eulav mumixam eht dnif ot redro ni muminim 2)2-t( fo eulav eht peek dluohs eW 441 + 2)2 - t(4- = )9 - 2)2 - t((4- = )5 - t4 - 2t(4- = 02 + t61 + 2t4- = 02 + t61 + 2t4- = h .mret tnatsnoc eht si c dna ,elbairav eht si x ,stneiciffeoc eht era b ,a erehw ,0 = ¢ + xb + 2xa si mrof dradnats Asti ni noitauqe citardauq ehT .)A2A ,A+A( sa detangised
era dna snoitauqe citardauq eht fo stoor eht dellac osla era x rof srewsna owt esehT .alumrof siht gnisu devlos eb nac noitauqge citardauq ynA .noitauge eht fo stoor eht rof eulav eht etadilosnoc dluoc ew ,erauqgs eht gnitelpmoc fo dohtem siht htiw woN a2/)ca4 -2b(AAA¢+ = a2/b + x 2a4/)ca4d - 2b( = 2)a2/b + x( 2a4/2b + a/c- = 2)a2/b + x( 2)a2/b( + a/c-
= 2)a2/b( + a/xb + 2x :sedis htob no 2)a2/b( mret wen a gnicudortni yb ,erauqgs tcefrep a sa edis dnah tfel eht sserpxe ew ,woN a/c- = a/xb + 2x c- = xb + 2xa 0 = ¢ + xb + 2xa :swollof sa ti yfilpmis ew ,noitauge siht fo stoor eht enimreted oT ?alumroF citardauQ ni stnanimreteD fo esU eht si tahW ?eraugS eht gnitelpmoC yb noitauqE citardauQ a
evloS ot woH b- = x dna a- = x niatbo nac ew ecneh dna ,0 = b + x dna 0 = a + x .smelborp noitauge citardauq deredisnoc osla era snoitaluclac tsoc dna dnamed ,ylralimiS .stoor eht htob dnif ot noitauge eht evlos ot deen tsrif ew sa ,ssecorp gnol a si noitauqge eht fo stoor eht fo erutan eht gnidnif ,tnanimircsid eht tuohtiWw tuohtiw x (x + 11) - 1 (x +
11)=0(x+11)(x-1)=0(x+11)=0y (x-1)=0x =-11 and x = 1 Since the length cannot be negative, we take x = 1. Quadratic equations that have common 3, the quadratic equation that has quadratic ratiosare \ (A 1x ~2 +b 1x+c 1 =0\),and \ (A 2x ™ 2 + 2x + C 2 = 0\). How 3 simplify a quadratic 3? In addition to solving and replacing
the values for X, we can get Y values, we can get numerous points. Mathematics will no longer be a difficult subject, especially when you understand concepts through visualizations. The first condition 3 for an equation 3 to be a quadratic equation 3 the coefficient of X2 is a non-zero term (a A¢ & 0). For a> 0, range: [F (-b / 2a), A¢AQ) for a
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